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Select the sentence with the appropriate use of adverb of manner.

(c)
a) He done his | b) He has just | ¢) He has done | d) He has done | He has done
work regularly | done his work. | his work his work on my | his work

carefully. table. carefully.

Select the most appropriate option in direct speech. (d)
a) The b) The c¢) The d) . The The principal
principal says | principal said | principal said | principal said | said to me,

me, “You are
in-charge of the

me, you are in-
charge of the

to I, “You are
in-charge of the

to me, “You are
in-charge of the

“You are in-
charge of the

admission admission cell. | admission admission admission
cell.” cell.” cell.” cell.”
Select the most appropriate ANTONYM of the italic underlined word
in the given sentence. ()
Henry is so servile that other people take advantage of him.
a) Arrogant b) Sheepish c) Bickering d) Cunning Arrogant
Sentences of a paragraph are given below in jumbled order. Arrange
the sentences inthe correct order to form a meaningful and coherent
paragraph.
A. He repeated the experiment, increasing the amount until he had
weighed up to athousand pounds. (a)
B. During the spring of 1717, the iron foundries in a remote district
were often visitedby a thin, middle-aged man with a notebook.
C. Three cauldrons were next prepared under his directions.
D. He would weigh out two pounds of iron, have them heated till
they were red-hot andthen weigh them again.
a) BDAC | b) ABDC |c) BCAD |d) CABD | BDAC
Select the correct option and fill in the blank.

(b)
I would like a doctor someday.
a) becoming b) to become c¢) become d) becomes to become
Which of the following Articles of the Indian Constitution are related
to citizenship?

P (b

a) Articles 5 to | b) Articles 5 to | c) Articles 14 d) Articles 12 Articles 5 to
15 11 (Part-II) to 18 to 35 11(Part-II)
Which of the following gas is also known as laughing gas?

(a)




a) Nitrous b) Nitric acid c)Carbon d) Chloroform . .
: o Nitrous oxide
oxide dioxide
8 | Who discovered penicillin?
(c)
a) Charles b) Louis c¢) Alexander d) Gregor Alexander
Darwin Pasteur Fleming Mendel Fleming
9 | Who is known as "the Father of Indian Cinema"? (@)
a) Dadasaheb b)Prithviraj ¢) Sunil Dutt d)Ramanand Dadasaheb
Phalke Kapoor Sagar Phalke
10 | Where did the first Asian Games hold? (a)
a) India b) Japan ¢)Sri Lanka d)China India
11 | A man walks 5 km toward south and then turns to the right. After
walking 3 km he turns to the left and walks 5 km. Now in which
direction is he from the starting place? d)
a) West b) South c¢) North-East | d) South-West | South-West
12 | Two Supplementary angles are in the ratio 3:2. The smaller angle
measures (c)
a) 108° b)81° c) 72° d) 66° 72°
13 | Find the missing numberin the following series.
15,18, 24, 7 ,45 (b)
a)23 b)33 c) 43 d)53 33
14 | An umbrella was sold at a profit of 20%. What is the selling price of
the umbrella if the shopkeeper procured it at the cost of Rs. 180? (a)
a)216 b)218 c)234 d)236 216
15 | Statement
Necessity is the mother of all inventions.
Conclusions d)
I. There can be no invention without there being a mother.
II. mother is a necessity.
a) Only I is b) Only Il is c) Both I and II | d) Neither I nor | Neither I nor
implied. implied. are I is implied. II is implied.




16 | Where did the 3rd edition of the North East Games 2024 hold?
(d)
a) Assam b) Manipur ¢) Mizoram d)Nagaland Nagaland
17 | VASA-1 Artificial Intelligence (Al) is developed by which company?
(d)
a) Apple b) Google c)Meta d)Microsoft Microsoft
18 | What is the theme for World Environment Day 2024? (a)
a) Land b) Biodiversity | c) Beat plastics | d) Conserve Land
restoration, Loss and water and restoration,
desertification | Pollution energy desertification
and drought and drought
resilience resilience
19 | Who got recently Nobel Prize 2023 in medicine?
(c)
a) Louis Brus b) Ferenc ¢) Katalin d) Anne Katalin
and Alexei Krausz Kariko6 and L’Huillier Kariko6 and
Ekimov Drew Drew
Weissman Weissman
20 | On which pole Chandrayaan-3 achieved a successful soft landing on
] @
the Moon?
a) North Pole b) West Pole c) East Pole d)South Pole South Pole
21 | What is the name of Plato’s most famous work?
(b)
a) War and b) Republic ¢) The Prince d) Politics Republic
Peace
22 | According to Plato, what is the purpose of the philosopher-king in the
ideal state? (a)
a)To pursue b) To c) To seek d)To pursue To pursue
wisdom accumulate pleasure power wisdom
and justice wealth and justice
23 | Who is considered the father of literary criticism?
(b)
a) Plato b) Aristotle ¢) Socrates d) Homer
Aristotle
24 | Aristotle’s concept of “ethos” in literature refers to:
(a)
a) The ethical | b) The setting | c¢) The d) The tragic .
. , y . The ethical
and moral and atmosphere | audience’s hero’s internal
. and moral
of the story conflict




character of the emotional character of
author response the author
25 | Machiavelli wrote in 1513 his famous political work, titled
(b)
a) Platonic b) The Prince ¢) Leviathan d) Liberty
Elitism The Prince
26 | What type of Polity emerged from the Wreckage of feudalism?
(b)
a) Monarchy b) Nation-State | ¢c) Democracy | d) Principality
Nation-State
27 | Hobbes’s political philosophy has been influential in shaping
discussions about: (b)
a) Economic b) Democracy | ¢) Separation d) International
. . . Democracy
inequality and human of powers relations
. and human
rights :
rights
28 | According to Hobbes, what is the primary motivation for individuals
to enter into the social contract? (b)
a) Altruism b) Fear of ¢) Desire for d) Pursuit of
. » . Fear of
violent death political power | economic .
. violent death
prosperity
29 | Who was the intellectual father of the French Revolution? ()
a) Rousseau b) John Locke | c¢) Kant d) Sarter
Rousseau
30 | Karl Marx’s main interests include: )
a) Politics b) Economics | c¢) Class d) All of the All of the
struggle above
above
31 | What is the name of Marx’s theory of human history?
(a)
a) Historical b) Hypothetical | c¢) Historical d) None of L
. . 1 . Historical
Materialism Materialism Idealism these -
Materialism
32 | Raja Ram Mohan Roy was called a pioneer of? (a)
a) Indian b) Women's ¢) Economic d) Rights .
! Indian
Renaissance development change .
Renaissance
33 | According to whom, "entire mankind is one great family of which
numerous nations and tribes are only various branches". (b)
a) Jawaharlal b) Raja Ram c) B.R. d) Gokhale .
Raja Ram
Nehru Mohan Roy Ambedkar
Mohan Roy




34 | Which of the following, according to Gandhiji, is an essential
principle of Satyagraha? %)
a) Infinite b) Non- ¢) Truth d) All the three
capacity for violence All the three
suffering
35 | What did Gandhiji mean by ‘Swaraj’? (b)

a) Freedom for | b) Freedom for | ¢) Self- d) Complete Freedom for
the country the meanest of | Government independence the meanest
the countrymen of the
countrymen
36 | Which of the following did Gandhiji describes as his two lungs? (b)
a) Ahimsa and | b) Ahimsa and | ¢) Truth and d) .
Ahimsa and
peace truth Peace Brahamcharya
o truth
and Aparigriha
37 | Out of the following options, which of these political parties were not (a)
formed by Ambedkar?
a) Dal.lt Shoshit | b) Scheduleq c) Indlqn d) None of the Dalit Shoshit
Samay Cast Federation | Republican above .
Samaj
Sangharsh Party
" Sangharsh
Samiti i
Samiti
38 | Who was the author of the ancient Indian political treatise, the ®
a
Arthashastra?
a) Kautilya b) Banbhatta c¢) Balmiki d)
Muni KrittibasOjha | Kautilya
39 | Which one of the followings does not fall in the category of civil
liberty? (d)
a) Right to life | b) Right to c¢) Right to d) Right to
move freely enter into criticize the Right to
contract with government criticize  the
others government
40 | Which of the following does not fall within the purview of the
political liberty? (d)




a) Right to vote | b) Right to c¢) Right to d) Right to )
o Right to move
contest criticise the move the court
_ the court for
elections government for the
the
endorcement of
. endorcement
rights _
of rights
41 | According to the Indian Constitution, which article(s) explicitly
promote(s) the idea of equality? (d)
a) Article 14 b) Article 15 c¢) Article 16 d) All of the
All of the
above
above
42 | The concept of 'reservation' in India is primarily aimed at: ©
C
a) Providing b) Ensuring ¢) Overcoming | d) Granting c)
job that all jobs are | historical preferential Overcoming
opportunities to | equally discrimination | treatment to historical
individuals distributed and promoting | individuals discriminatio
based on their | among various | representation | with certain n and
economic social groups of political promoting
status. marginalized affiliations representation
communities. of
marginalized
communities
43 | The term 'Untouchables' was replaced by which term in the Indian
Constitution? (a)
a) Scheduled b) Backward ¢) Minority d) Other
Castes Classes Communities Backward Scheduled
Classes Castes
44 | The Supreme Court of India consists of how many judges, including
the Chief Justice of India? (c)
a) 26 b) 31 c)34 d) 38 34




45 | The power of the Supreme Court to interpret the Constitution and to
declare any law invalid is known as: (a)
a) Judicial b) Judicial ¢) Judicial d) Judicial
Review Activism Independence | Precedent Judicial
Review
46 | The writ of is issued by the Supreme Court or High
Court to a person who has been detained unlawfully, to inquire about @
a
the reasons for detention.
a) Habeas b) Mandamus | ¢) Prohibition | d) Certiorari
Habeas
Corpus
Corpus
47 | Which historical event led to the development of the concept of state
sovereignty as we understand it today? (a)
a) The Peace of | b) The French | c¢) The Treaty d) The The Peace of
Westphalia Revolution of Versailles Congress of Westphalia
(1648) (1789) (1919) Vienna (1815) (1648)
48 | What does the term "denaturalization" mean in the context of
citizenship? (c)
a) The process | b) The process | c¢) The process | d) The process
o _ _ o The process
of acquiring of granting of losing of obtaining
of losing
citizenship citizenship to | citizenship diplomatic - '
citizenship
through foreigners acquired immunity for )
. - acquired
marriage through citizens
through
naturalization | traveling
naturalization
abroad
49 | Which of the following is an example of a political right associated
with citizenship? (c)




a) Right to

education

B) Right to

healthcare

¢) Right to
freedom of

speech

d) Right to own

private

property

Right to
freedom of

speech
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Preamble of the Indian Constitution is borrowed from which country?

(a)

a) American

Constitution

b) Canadian

Constitution

¢) British

Constitution

d) Irish

Constitution

American

Constitution

51

How many types of Justices are mentioned in the preamble?

(©)

a) 2

b) 3

c) 4

d) 5

52

Consider the following statements:

1. Governor is immune from criminal and civil proceedings
against him.
2. The Constitution does not lay down any grounds upon which

a governor may be removed by the President.

3. Governor holds office till the pleasure of the President.
Which of the above statement(s) is/are correct?

(©)

a) Only 1 and 2

b) Only 1 and 3

¢)Only 2 and 3

d) Only 3

Only 2 and 3

53

Consider the following sentences about the Prime Minister of India.

1. A person can be appointed as Prime Minister, even if he is not
a member of either House of Parliament.

2. The President cannot give sanctions for the legal prosecution
of the Prime Minister, unless his guilt is established by a court

of law.

w

Prime Minister’s Office is an extra-constitutional body.

4. Executive council of India’s Nuclear Command Authority is
headed by Prime Minister

Which of the above statement(s) is/are correct?

(b)

a)l,2and3
only

b) 1 and 2 only

c)2,3and 4
only

d) All of the

above

1 and 2 only
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S1: The PM is appointed by the President on the basis of the majority

vote in the Parliament.

(©)




S2: The PM is assisted by the Council of Ministers and the size of

this council cannot be more than 15% of the Lok Sabha.

Select the most appropriate option from the following:

a) S1: True; b) S1: True; ¢) S1: False; d) S1: False;
S1: False;
S2: True S2: False S2: True S2: False
S2: True
55 | Assertion (A): The President exercises all his powers without the
consent of the Council of Ministers as he is the Head of the State.
(d)
Reason (R): The Council of Ministers are people's representatives
and must be involved in decision making.
a) Both (A) and | b)Both (A) and | ¢)(A) is true d) (A) is false
(R) are true and | (R) are true but | and (R) is and (R) is true. (A) is false
(R) is the (R) is not the false. and (R) is
correct correct true.
explanation of | explanation of
(A). (A).
56 | Assertion: The Chief Minister is the channel of communication
between the Governor and the council of ministers.
Reason: The Chief Minister is the head of the state council of (a)
ministers.
a) BothAand |b)BothAand |c)Aistruebut |d)Ais false but
R are true and | R are true but R is false R is true Both A and R
R is the correct | R is not a are true and R
explanation of | correct is the correct
A. explanation of explanation of
A. A.
57 | Assertion: Common people in India give less importance to elections.
Reason: They feel that their vote matters in the way things are run in | (d)
the country.
a) BothAand |b)BothAand |c)Aistrue, but | d)Ais false,
R are true, and | R are true, but | R is false but R is true.
R is the correct | R is NOT the )
X A is false, but
explanation of | correct .
) R 1s true.
A. explanation of
A.
58 | Assertion: In India, people elect their own representatives.
Reason: India is a democracy. (a)

10




a) BothAand |b)BothAand |c)Aiscorrect | d)Both AandR
R are correct R are correct but R is are incorrect Both A and R
and R is the but R is not the | incorrect are correct
correct correct and R is the
explanation for | explanation for correct
A A explanation
for A
59 | Assertion: The directive principles of state policy are not enforceable
by any court
Reason: Directive principles are more or less fundamental in the @)
governance of the country
a) BothAand |b)BothAand |c)AistrueRis | d)Aisfalse R | Both A and R
R are true and | R are true and | false is true are true and R
R is the correct | R is not the is the correct
explanation of | correct explanation of
A explanation of A
A
60 | Match the following.:
A. Global warming 1. Greenhouse effect (b)
B. Carbon dioxide 2. Threat to aquatic life
C. Acid rain 3. Cold planet
D. Nuclear winter 4. Rise in sea level
a) A-1,B-2,C- | b)A-4,B-1,C- | ¢)A-2B-3,C- | d)A-3,B-4,C- | A-4,B-1,C-2,
3,D-4 2,D-3 1, D-4 2,D-1 D-3
61 | Identify the correctly matched pair.
1. Montreal protocol—Global warming
2. Basel convention—Biodiversity conservation (a)
3. Kyoto protocol—Climate change
4, Ramsar convention—Ground water pollution
a) 3. Kyoto b) 1. Montreal | ¢) 4. Ramsar d) 2. Basel Kyotoprotoco
protocol- protocol- convention- convention- 1-Climate
Climate change | Global Ground water | Biodiversity change
warming pollution conservation
62 | Match the following:
A. M.N. Ray 1. Swaraj Party
B. C.R. Das 2. Home Rule Movement
C. Annie Besant 3. Partition of Bengal agitation
D. B.G. Tilak4. Radical Nationalist (a)
Which of the above statement(s) is/are correct?
a)A-4,B-1,C- | b)A-4,B-1,C- | ¢c)A-2,B-3,C- | d)A-3,B-2,C-
2D-3 3D-2 1 D-4 4 D-1 A-4, B-1, C-2
D-3
63 | Match the following:
(a)

11




1. Mikhail Gorbachev
2. Shock Therapy

A. Successor of USSR

B. Military pact

3. Russia C. Introduced reforms

4. Boris Yeltsin D. Economic model

5. Warsaw E. President of Russia

a)l-C, 2-D,3- | b)1-D,2-C,3- |c¢c)1-B,2-D,3- |d)1-C,2-D, 3- 1-C,2-D,3-A,
A, 4-E,5-B B, 4-E ,5-A E, 4-A, 5-C E, 4-B, 5-A 4-E,5-B

64 | Match the leaders of the Non-Alignment Movement (NAM) with the

countries they belong to:

1. Jawaharlal Nehru A. Egypt

2. Josip Borz Tito B. Indonesia (a)

3. Abdel Nasser C. Ghana

4. Kwame Nkurmah D. Yugoslavia

5. Sukarno F. India

a) 1-F, 2-D, 3- | b) 1-F, 2-B, 3- | ¢)1-F, 2-C,3-D, | d) 1-F, 2-D, 3- | 1-F, 2-D, 3-A,
A, 4-C.5-B A, 4-Cs. 5-D 4-B. 5-A C,4-A.5-B 4-C. 5-B

65 | Which one among the following statements about the Mansabdari Answer

system is correct? option
(c)
a) All army b) Mansabs c) Position and | d) Mansabdars | Position and
troopers were | were usually salary of were never salary of
allotted assigned on the | mansabdars paid in cash mansabdars
mansabs. basis of were indicated were
ancestry. by a numerical indicated by a
designation numerical
called zat. designation
called zat.

66 | What was the name of the Chinese pilgrim who visited during the Answer
reign of Harshavardhana? option
B.C.D. (b)

a) Fahein b) Hiuen Tsang | ¢) Hikaru d) None of the
Above Hiuen Tsang

67

Which one of the following kingdoms was founded by the two
brothers Harihar and Bukka?

Answer
option

(©)
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a) Bahmani b) (c) Malwa d) Maratha
Vijayanagara -
Vijayanagara
68 | Military Exercise ‘KAZIND-2023" is conducted between India and Answer
option
(b)
a) Tajikistan a) Kazakh | ¢) Israel d) France
stan Kazakhstan
69 | Which one of the following planets has largest number of natural Answer
satellites or moons? option
(a)
a) Jupiter b) Mars c) Saturn d) Venus Jupiter
70 | Which of the following is/are tributary tributaries of Brahmaputra?
1. Dibang Answer
2. Kameng option
3. Lohit (d)
Select the correct answer using the code given below.
a)l only b)2and 3 only |c)1and3only |d) All ofthe All of the
above Above
71 | Which one among the following rivers is the longest? Answer
option
(b)
a) Amazon b) Nile ¢) Brahmaputra | d) Lena Nile
72 | Which among the following has the world’s largest reserves of Answer
Uranium? option
(a)
(a) Australia (b) Canada (c) Russia d) USA Australia
73 | India’s only active volcano is located at which among the following Answer
places? option
(a)

13




a) Barren b) Car Nicobar | ¢c) Mayabunder | d) Barren Island
Island Lakshadweep
74 | Which of the following matches of the name of the boundary lines Answer
and their related country are correct? option
(c)
1. MacMohan line - Between India and China
2. Radcliff line - Between India and Pakistan
3. Durand Line - Between India and Afghanistan
4. Palk strait - Between India and Sri Lanka
Choose the correct option from the codes given below:
a) 1&2 b)1,3&4 c)1,2&4 d1,2,3&4 1,2&4
75 | Which is the highest river dam in India? Answer
option
(d)
a) Sardar b) Bhakra dam | ¢) Hirakud d) Tehri Dam Tehri Dam
Sarovar Dam Dam
76 | Which of the following state does not share boundary with Answer
Myanmar? option
(b)
a) Arunachal b) Assam c¢) Nagaland d) Manipur Assam
Pradesh
77 | Assertion (A): West-flowing rivers of Peninsular India have no Answer
deltas. option
Reason (R): These rivers do not carry any alluvial sediment. (a)
a) BothAand |b)BothAand |c)Aistruebut |d)Ais false but | Both Aand R
R are R are R is false R is true are
individually individually individually
true and R is true but R is true and R is

the correct

not the correct

the correct
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explanation of | explanation of explanation
A A of A
78 | Which part of the Constitution of India declares the ideal of Welfare Answer
state? option
(a)
(a) Directive b) Fundamental | ¢) Preamble d) Seventh Directive
principles of rights schedule principles of
state policy state policy
79 | Which article provides amendment of Indian constitution? Answer
option
(a)
a) Article 368 | b) Article 360 | c¢) Article 367 | d) Article 365 | Article 368
80 | For how much time a person who is not a member of either House of Answer
Parliament can also be appointed as a minister? option
(c)
a) 2 Months b) 3 Months ¢) 6 Months d) 9 Months 6 Months
81 | When was Arunachal Pradesh given a status of a full-fledged state? Answer
option
(a)
a) 201 b) 21 ¢) 20"February | d)21% 20"February
February 1987 | February 1987 | 1986 February 1986 1987
82 | From which district Keyi Panyor district is carved out? Answer
option
(c)
a) West b) Upper c) Lower d) East Lower
Kameng Subansiri Subansiri Kameng Subansiri
83 | Which is the highest peak of Arunachal Pradesh? Answer
option (c)
a) Mount b) Mount ¢) Mount d) Mount Mount
NyegyiKansan | Chiumo Kangto Kamet Kangto
g
84 | Excise duty is a tax levied on the Answer
option (b)
a) Import of b) Production | ¢) Export of d) Sale of Production of
goods of goods goods goods goods
85 | In India, factors that can cause inflation are: Answer
option
1. Rise in population. (d)

2. Black money.
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3. Rise in income.
4. Excessive government expenditure.

a)land 2only | b)1,2and 3 c) 1 and 4 only | d) All of the All  of the
above above
86 | Who is the chairman of 16th Finance Commission of India? Answer
option (¢)
a) Nand b) Amit Shah ¢) Arvind d) Shaktikanta | Arvind
Kishore Singh Panagariya Das Panagariya
87 | Per Capita Income of a country is obtained by dividing National Answer
Income by which of the following? option (b)
a) Total b) Total ¢) Area of the d) Volume of Total
working population of | country the capital used | population of
population the country the country
88 | Reserve Bank of India (RBI) was nationalized in the year. Answer
option (b)
a) 1935 b) 1949 c) 1945 d) 1969 1949
89 | A train running at the speed of 60 km/hr crosses a pole in 9 seconds. | Answer
What is the length of the train? option (d)
a) 120 b) 180 C) 324 d) 150 150 metres
Metre Metres metres metres
90 | Which ecosystem acts as a significant carbon sink on Earth? Answer
option (c)
a) Deserts b) Tundra ¢) Oceans d) Urban Areas Oceans
91 | Which one of the following is not a main greenhouse gas? Answer
option (b)
a) Water vapor | b) Oxygen c¢) Carbon d) Methane Oxygen
dioxide
92 | What is the target for reducing emissions intensity of India’s GDP by | Answer
2030 according to the Intended Nationally Determined Contribution | option (c)
(INDC)?
a) 20 to 25 b) 30 to 35 c)33to 35 d) 40 to 45 33 to 35
percent from percent from percent from percent from percent from
the 2005 level | the 2010 level | the 2005 level | the 2015 level | the 2005 level
93 | The 2024 UN Climate Change Conference (UNFCCC COP 29) will | Answer
be hold in option (a)
a) Baku, b) New Delhi, | c¢) Sharm El d) Glasgow, Baku,
Azerbaijan. India. Sheikh, Egypt | Scotland, Azerbaijan
United
Kingdom
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94 | Which one of the following statements best describes the objectives Answer
of SHRESHTA Scheme? option (a)
1. It has been formulated to provide quality education for the
Scheduled Caste students as per the Constitutional mandate.
2. It creates universal social security system for all Indians
especially the workers in the unorganized sector.
3. It is launched to protect elderly persons aged 60 years against
a future fall in their interest income due to uncertain market
conditions.
4, It aims to incentivize the efforts of the textile industry in
creating jobs and covering the entire value chain of textiles
a) Only 1 |b) land2 |cC) 3and4 |d) Allof | Only1
only only the above
95 | Which of the following is a nationwide campaign to raise awareness | Answer
through outreach activities to achieve saturation of schemes of Govt. | option (b)
of India across the country covering all Gram Panchayats, Nagar
Panchayats and Urban Local Bodies?
a) Nation First, | b) Viksit c¢) PuneetSagar | d) Ek Bharat Viksit Bharat
Always First Bharat campaign Shreshtha SankalpYatra
campaign SankalpYatra Bharat
initiative
96 | 71. Which of the following metals forms an amalgam with other Answer
metals? option (b)
a) Tin b) Mercur | C) Lead d) Zinc Mercury
y
97 | Houthi rebels, sometimes seen in news, are based in Answer
option (¢)
a) Saudi Arabia | b) Ethiopia ¢) Yemen d) Nigeria Yemen
98 | The Counter Insurgency and Jungle Warfare School of Indian Army | Answer
is situated at: option (b)
a) Dehradun b) Vairengte ¢) Gulmarg d) Mhow Vairengte
99 | Who is known as Iron Man in Indian politics? Answer
option
(c)
a) Jawaharlal b) Subash c) d) None of the
Nehru Chandra Bose | SardarVallabhb | above SardarVallabh
hai Patel bhai Patel
10 | Who was dubbed as “The Father of Indian Unrest” by the British? Answer
0 option
(b)
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a) LalaLajpat b) Bal ¢) Bipin d) Bal
Rai GangadharTila | Chandra Pal VinayakDamod .
GangadharTil
k arSavarkar ak
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